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Agriculture Impact on the Environment
-High yield agricultural practices can lead to environmental damage


-can limit future capacity to produce food

I. Declining genetic diversity in food crops


A. domesticated crops have less diversity than wild relatives due to selective breeding



-loss of traits which were not evident at the time (e.g.  disease resistance, drought resistance)


B. trend towards wide planting of single "super" varieties -allow large-scale losses


C. solutions: coordinate mixtures of varieties in regional planting, find new crops

II. Soil Erosion - loss of the fertile topsoil


A. results from wind and water removal of bare soil


B.  tilling (plowing) leaves soil bare


C. average soil loss = 18 -100 metric tons/hectare/year; average soil formation = 1 ton/hectare/year


D. solutions: contour plowing, no-till farming, restriction of faring on marginal land

III. Salinization - build up of salt in soil


A. irrigation water added to soil at minimum level leads to build up of salts dissolved in the water 

after water evaporates


B. high salt levels prevent plant growth


C. solutions: trickle irrigation, land flooding

IV. Desertification - expansion of desert


A. currently increasing in desert area by 15 million acres/year -worst in sub-Saharan Africa


B. causes:



1. overgrazing



2. cultivation of marginal lands leads to soil erosion and salinization



3. deforestation for fuel


C. solutions: replant area with drought-tolerant plants, retire land from cultivation for 10-20 years

V. Continuous use of chemical fertilizers


A. fertilizers needed for high output agriculture year after year


B. chemical fertilizers add required nutrients (N, P, K)  but do not add structure and 


microbial activity as organic fertilizers - lead to loss of soil structure


C. run-off leads to pollution of ground water, tributaries, bay lead to algal blooms and fish kills


D. solutions: organic farming, crop rotation with legumes, water treatment (e.g. Everglades)

VI. Pesticides


A. genetic resistance to certain pesticides is growing in pest populations


B. removal of current pesticides from use due to testing or due to effects on ozone layer


C. excessive use based upon programmed spraying


D. pesticide pollution of water and soil (e.g. DDT)


E. broad-spectrum pesticides remove beneficial insects, fungi, bacteria as well, 



increasing dependence upon more pesticide usage




F. solutions: Integrated Pest Management (IPM), biological control to replace chemical 


